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PUBLIC EXAMINATION - APRIL 2025

PART - III
Mathematics (With Answers)

Time Allowed : 3.00 Hours] [Maximum Marks : 100

Instructions : (1) Check the question paper for ® 9.

fairness of printing. If there is
any lack of fairness, inform the
Hall Supervisor immediately.

The slope of the line which is perpendicular to a
line joining the points (0,0) and (-8, 8) is :

1
@ -1 ® 1 (o 3 (d -8

1
1
1
1
1
(2) Use Blue or Black ink to write ! 10. If the ratio of the height of a tower and the length
and underline and pencil to draw , of its shadow is /3 :1, then the angle of elevation
diagrams. | of the sun has measure :
Note : This question paper contains four parts. I (@) 45° (b) 30° (c) 90° (d) 60°
1
Part - | 1 11. The curved surface area of a right circular cone of
— 1 . . P
Note: (i) Answer all the questions.14 x 1 = 14! height 15cm and basqiaiRger I6cm is :
. - ! (a) 607 cm? (b) 68 mcm?
(ii) Choose the most appropriate answer 1 9 5
from the given four alternatives and write | (c) 120mcm (d) 136mem
the option code and the corresponding 1 12. The volume (in cm?) of the greatest sphere that can
answer. : be cut off from a cylindrical log of wood of base
1.  The range of the relation R = {(x, x?) | x is a prime | radluzl cm and height 5 em is : 20
number less than 13} is : : @ —n (b) En ) 5 "
(a {2,3,5,7} (b) {2,3,5,7,11} . 3 3 3
(©) 14,9,25,49,121} ! 13. Which of the following is incorrect?
(d) {1,4,9,25,49, 121} | (@) P(A)>1 (b) 0<P(A)<1
1
2. Let n(A? =m and q(B) =1, then the total number ! © P(@)=0 ) P(A)+ P(A) -1
of functions that exist from B to Ais : .
(@ m" (b) n™ (c) 2™-1 (d) 2mn i 14. A purse contains 10 notes of ¥ 2000, 15 notes of
e \ : T 500 and 25 notes of ¥ 200. One note is drawn
3. Euchd s division lemm.a staj[es that .f.or p ositive | at random. What is the probability that the note is
integers a and b, there exist unique positive 1nt§gers | cither a T 500 note or T 200 note?
q and r such that a =bq + 1, where r must satisfy. : 3
@ 1<r<b (b) 0<r<b D@ )= o 2 @ 2
(c) 0<r<b (d) 0<r<b ! 10 3 5
4. If 6 times of 6™ term of an A.P. is equal to 7 times | Part - 11
the 7™ term, then the 13" term of the A.P. is : | Note:  Answer any ten questions. Question No.28 is
(@ 0 (k)6 (¢ 7 (d 13 ! compulsory. 10 x 2 = 20
5. If (x — 6) is the H.C.F of x* — 2x — 24 and | 15. LetA= {1, 2,3} and B = {x | x is a prime number
x>~ kx = 6, then the value of k is : ! less than 10}. Find A x B.
(@ 3 (b) 5 () 6 (d) 8 . 16. Find fog and gof when flx) = 2x +1 and
6. Transpose of a column matrix is : 1 gx)=x>-2.
(a) unit matrix (b) diagonal matrix 1 17. A man has 532 flower pots. He wants to arrange
(¢) column matrix (d) row matrix ! them in rows such that each row contains
7. A tangent is perpendicular to the radius of a circle ! 21 flower pots. Find the number of completed rows
at the | and how many flower pots are left over.
(a) Centre (b) Point of Contact ! ) x y®
(c) Infinity (d) Chord ) 18. Add: —— 5 oy
8. The equation of a line passing through the origin : 1 2 0
and parallel to the line 7x =3y +4=01s: '19. IfA= [ j’ B = [ ] find AB and BA.
(@) Tx—3y+4=0 (b) 3x—Ty+4=0 . 13 I3
(c) 3x+7y=0 (d 7x-3y=0 [‘ Verify if AB = BA.
1
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20. In the given diagram, AB is the bisector of ZA.
IfBD=4cm,DC=3cmand AB=6cm, find AC.
A

S
‘OQ

B C

4cm D 3cm

21. The line through the points (-2, a) and (9,3) has

slope ! . Find the value of ‘a’.

22. Show that the straight lines x — 2y + 3 = 0 and

6x + 3y + 8 = 0 are perpendicular.

From the top of a rock 5043 m high, the angle of
depression of a car on the ground is observed to
be 30°. Find the distance of the car from the rock.

If the ratio of radii of two spheres is 4 : 7, find the
ratio of their volumes.

23.

24.

25. The slant height of a frustum of a cone is 5 cm and
the radii of its ends are 4 cm and 1 cm. Find its

curved surface area.

26. Find the range of the following distribution :

Age

. 16-18
(in years)

18-20(20-22122-2424-26|26-28

Number of

Students 0

4 6 8 2 2

27. A flower is selected at random from a basket
containing 80 yellow, 70 red and 50 white flowers.
Find the probability of selecting a yellow coloured
flower.

28. Check whether the sequence \/5 ,\/g ,\/E ,\/i R
\/%, ...... is an A.P or not? If it is an A.P, then find
the common difference.

Part - 111

Answer any ten questions. Question No.42
is compulsory. 10 x 5 =50
29. Let A = The set of all natural numbers less than

8, B = The set of all prime numbers less than 8§,

C = The set of even prime numbers. Verify that
(ANnB)xC=(AxC)n (B xC).

30. Let f: A > B be a function defined by
X
Sx)= E_l’ where A= {2, 4, 6, 10, 12}. B = {0,

Note :

1,2,4,5,9}. Represent f by
(i) set of ordered pairs  (ii) a table
(ii1) an arrow diagram(iv) a graph
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31.

32.

33.

34.
35.

36.

37.

38.

39.

40.

41.

42.

Note
43.

If P XDPy” Xpst Xpyt 113400  where
P> Dy Py D, are primes in ascending order
and x, x,, x;, x, are integers, find the value of

p]’ p27 p37 p4 and x1> xza X3, x4-

Find the sum of the series 62+7%+8%+... +212.

2 -1
1 2 1
IfA= andB=|-1 4 |, show that
2 -1 1 0 2

(AB)T = BTAL
State and prove Angle Bisector Theorem.

Find the value of k, if the area of a quadrilateral is
28 sq. units, whose vertices are taken in the order
(49 72)7 (739 k)a (39 *2) and (25 3)
A line makes positive intercepts on coordinate
axes whose sum is 7 and it passes through
(-3, 8). Find its equation.
sin’ A +cos’ A
sinA +cosA

sin® A —cos® A B

Prove that :

sinA —cosA

Nathan, an engineering student was asked to make
a model shaped like a cylinder with two cones
attached at its two ends. The diameter of the model
is 3 cm and its length is 12 cm. If each cone has a
height of 2 cm, find the volume of the model that
Nathan made.

A metallic sphere of radius 16cm is melted and
recast into small spheres each of radius 2cm. How
many small spheres can be obtained?

The total marks scored by two students, Sathya
and Vidhya in 5 subjects are 460 and 480 with
standard deviation 4.6 and 2.4 respectively. Who
is more consistent in performance?

A bag contains 5 red balls, 6 white balls, 7 green
balls, 8 black balls. One ball is drawn at random
from the bag. Find the probability that the ball
drawn is

(i) white
(ii1) not white

(b) black orred

(iv) neither white nor black
Determine the nature of the roots of the equation:
(x—=12+(x-22+(x-3)72=0.

Part - IV

: Answer all the questions. 2x8=16
(a) Draw a triangle ABC of base BC = 8 cm, LA
= 60° and the bisector of ZA meets BC at D
such that BD = 6 cm.

(OR)
Take a point which is 11 cm away from the

centre of a circle of radius 4 cm and draw the
two tangents to the circle from that point.

(b)
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44. (a) Graph the quadratic equation x> —9x +20=0 ¢ 3 3 ¥ 3
and state the nature of solution. : 18. + Y = _Z
(OR) : x—y y—x X=y Xx=Jy
(b) A bus is travelling at a uniform speed of 50 ! [Taking (—1) common from the second term]
km / hr. Draw the distance — time graph and , LCM of (x —y), (x —y)isx —y
hence find. ! s 3 5 5
(1) the constant of variation : -y M(x +xy+y7)
(i) how far will it travel in 90 minutes? ! C(x-y)
(ii1) the time required to cover a distance of | M
300 km. | [. @ —b=(a—b)(a*+ab+ b
BB S | =ty
1
ANSWERS . 19. We observe that A is a 2 x 2 matrix and B is a
: 2 x 2 matrix, hence AB is defined and it will be of
Part - | : the order 2 x 2.
1. (o) {4,9,25,49,121} : B 2 1) (2 0) (4+1 0+3
= X =
2. (a m" 3. (¢) 0<r<b | 1 3)(1 3 2+3 0+9
6. (d) rowmatrix 7. (b) Pointof Contact | “ 15 9
— 1
10. (d) 60° 11. (d) 136 ncm? | 1 o3 x 1 3] 1243 149
4 1
12. (a) gn 13. (a) P(A)>1 | _ 4 2
A : 5 10
14. (d) 3 : Therefore, AB # BA.
1
Part - 11 ! 20. In A ABC, AD is the bisector of ZA. Therefore by
15. A={1,2,3},B={2,3,5,7} ; Angle Bisector Theorem A
AxB = {(1,2),(1,3),(1,5), (1,7),(2,2), 2. 3), ! BD _~ AB 5
(2,5),(2,7),(3,2),(3,3). 3,56, 7)) ! DC  AC %
4 6
16. x) = 2x+1,g(x)=x*-2 ! S
f() 4 f( )2 : 3 ACglVGS B decm D 3cm C
Jog(x) = flg(x)) =flx"—2) , IAC — 18
= 2(?=2)+1=2x*-3 ! B 8
goftx) = g(flx)) =g(2x +1) ! Hence, AC = — =4.5cm
= (xH 1P -2=42+4x—1 4
Thus,  fog(x) = 2x*>-3, gof=4x> + 4x —1. : 21. A line passing joining the points (-2, a) and
From the above, we see that fog # gof. ! -1
Jog # &0/ | ©.)hasslopem= .
17. By Euclid’s division algorithm, 25 1 v~y 3—a 1
_ < _»-h - = -
a=bg+r, 0<r<b. 21) 532 : m X, —x 9_(_2) >
Here 532 = 2lg+r (1) 42 1
= 532 = 21(25) +7 ...(2) 1 |, 2B-a) = -1(11)
cg= 25andr=7 Lg ! 2a = -11-6=-17
[Comparing (1) and (2)] L - 4 = 17
I 2
1
1
¢

flower pots = 7.
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22. Slope of the straight lineisx —2y+3 =0 T No. of red flowers n(R) =70
-1 1 ; n(R) 70
m o= == Aliter ! ~ PR) = _ 10
-2 2 a, = 1, bl =-2; ! I’l(S) 200
Slope of the straight line a,=6,b,=3 : Y and R are mutually exclusive P (YUR) =
6x+3y+8 =01s a, a2+b1 b2 : P(Y)+P(R)
—6 ;h6 B 6=0 1 Probability of drawing either a yellow or red flower.
M T3 T 80 70 150 3
. perpendicular. : P(YOR)= — +——= — ==
Now, m; xm, = —x(2)=-1 ! 200 200 200 4
2 . | 28. Simplify the sequences :
Hence, the two straight lines are perpendicular.
23. Let AB be the height of the rock and C be the 1 V2 =42
. Le ¢ the height of the rock an ¢ the 1
position of car, let BC = d : B = ax2 =22
Given AB =50+/3 and ZACB =30° ! VI8 = Jox2 =32
A
In AABC, tan 30 = ! 32 = \16x2 =42
1
| wim | 30 = 2552 = 542
= ﬁ - d & . : The sequence becomes :
- d= 50 Bx3 ! V2, 242, 3V2, 442, 52
= d= 50x3= 150m. ! Check for a common difference :
1
24. Letr,,r, be the radii of the two given spheres | 22 - 2 =42
4 ! 3W2-22 =2
Given—= 2 4 ; :
g Txn r13 1 9\/5 - 3\/5 = \/E
Ratio of their volumes = 4 X T3 : Since there is a common difference, the sequence
%X”z : ! is an arithmetic progression (AP). The common
Vi r_13_ ﬂ3_4X4><4=ﬁ ! difference is~/2.
Va () 7)) Txax7 343 ! Part - Il
Hence, ratio of their volumes = 64 : 343 129. ANB)xC=AxC)Nn(Bx*xC)
25. Let /, R and r be the slant height, top radius and : LHS =(AnB)xC
bottom radius of the frustum. ! ANB = {2,357}
Given that,/=5cm, R=4cm, r=1cm I (ANB)xC=1{(2,2),(3,2),(5,2),(7,2)} ..(1)
Now, C.S.A. of the frustum = (R + )/ sq. units , RHS = (AxC)n (B xC)
22 ! (AxC) = {1, 2), 2._2), 3._2),
= @rDxs (4,2), (5.2), (6, 2), (1.2)}
550 : BxC) = {2.2),3.2),(5.2),(7.2)}
7 ! AxC)n(BxC)=1{(2,2),3,2),(5,2), (7, 2)}
.2
Therefore, C.S.A. - 78.57 cm? ' (1)=(2) - LHS = RHS. Hence it is verified. ")
— 1
26. HerSLar%lesttval;le Lé = ?E 1 30. f:A—B
mallest value S = I
RangoR = LS | A=1{2,4,6,10, 12},B—{0,1,2,42,5, 91
_ X
RoZa8lo : S = -1, S S-1=0
= 12 Years 1 2 2
27. Total number of flowers n(S) = 80 + 70 + 50 : @) = ﬂ -1=1 (6)= é —1=2
=200 | 2 2
No. of yellow flowers n(Y) = 80 1 10 12
pryy = MOV _ 80 f0) = —=1= f12)=—=1=5
: = = — 1
P =S T2 )
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p
(1) Set of ordered pairs T (n(n+D2n+1) (4 D@2n+1)
:{(2’ 0)5 (43 1)’ (65 2)3 (105 4)’ (125 5)} | - 6 =21 6 =5
(ii)  atable | ; .
X 2 4 6 10 12 1 :[2{ X,Z”f X43]_(5X5><11]
ol o1 2475 ; 7 £
(iii)  an arrow diagram; : =3311-55=3256
A B
/ ''33. LHS = (AB)
1 2 -1
1 1 21 | 4
: AB = 2 -1 2x3 g
1 0 2 3x2
1
! 2-2+0 -1+8+2 0 9
. 1 = =
(iv) | 4+1+0 —2-4+2) |5 —4
7 1
T 0 9) (0 5
: (123) : (AB)T = 4 (1)
2 (104) 1 5 4 9 4
: ! — (RT AT
31 ) I RHS = (B A"
: . ! 2 -1 0 2
. ot i X BT = ( J,AT= 2 -l
e R R TR ! 4 2 |
E ' 1 2
g Xzyx3 x | BTAT=(2_IOJX2—1
31. If P X Py~ X P3” X p44 = 113400 : -1 4 2 23 1 1
Py» Py Py P, are primes in ascending order, | 5 2v0 4xls0 2
X, X,, X3, X, are integers. i -
Using prime factorlsatlon tree. : “1+8+2 —2-4+42
1 0 5
/\ 1 BTAT = 9 _a ..(2)
2 ! -
| From (1) and (2),(AB)" = BTAT. Hence proved.
2 X
2/}2 - y 34. Statement: co E
| The internal bisector of . g
3 ! an angle of a triangle -
3 1573 : divides the opposite side
AN : internally in the ratio of 4 Y
2 ! the corresponding sides
3 | containing the angle.
5 : Proof : Given: In AABC, AD is the internal
I bisector.
: AB _BD
113400 =2x2X2X3x3x3X3xX5x5x%7 I To prove::
. AC CD
=2 x3'x 5 x 7! : Construction : Draw a line through C parallel to
= pilx po2 x pid x p,d AB. Extend AD to meet line through C at E
| DX py® X pyd X p, ! xten o meet line through C a
- P 2,192 = 3,173 = 5,194 =17, X = 3, Xy = 4, : No. Statement Reason
x,=2,x,= 1. | Two parallel lines cut
2L o2 5 1| 1. | ZAEC=ZBAE=Z1 |Dby a transversal make
32.6°+ 72 " i et 221 o ) | alternate angles equal.
=727 A2 - (174274 4 59 : 5 A ACE is isosceles In AACE,
21 5 . _ —
P | AC =CE ..(1) | ZCAE = ZCEA
1 1
é
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. * 3_b3=(a—b)*-3ab (a—b)
-390 | By AA Similari a
3. | AABD~AECD _ Y 4 : where a =sin A and b = cos A]
4. | AB_BD From (1) AC=CE. | 1 P {(smmcgsA)z 3sinAcosA}
AC_CD Hence proved. ! sin A-+cos A
! . (sinA —cos A)* +3sin A cos A
+ /ULA‘/
35. (—4,¢—2), (—3¢, k) (3,12) and (Zf) ! (s oS A) { T }
: ['.- Taking (sinA + cos A) common from the first
(o) (2 02) (x5,03) (¥4 y4) | term and (sin A — cos A) common from the
Area of the quadrilateral | second term]|
IR : = (sin A+ cos A)?> — 3 sin A cos A+
=35 X X X >< 5q. units ! (sin A—cos A)? + 3 sin A cos A
N Y2 Vs Ve N ! =sin? A+ cos? A) + 2 sin A cos A
. o 1 N
Given Area = 28 ! 3 sin A cos A+ sin? A+cos> A—2sinAcos A
-4 -3 , .
1 ><><><>< | +3sinAcos A
== 28 sq. units . .
2 I =1_si SA +1+ sin SA=1+1=2
FE I | /nA«eo/ /A«f:o/
= [(4k+6+9—4)— (6+3k—4—12)] =56 | = RHS. Hence proved
= 11 -4k—(-10+3k)= 56 . 38. Volume of the model = Volume of the cylinder +
= ~Tk+21 56 | Volume of 2 cones.
-Tk=56-21 = 35 | For cylinder /7 = 12-2-2=8cm
k = -5 : diameter = 3 cm \
36. If a and b are the intercepts then ¢ + b = 7 or : - ;o= 3 cm
b=T-a . ! 2 .
By intercept form —+ % =1 I For cone h = 2cm 8 cm a
a I
3
X ! _ 2
We have _+7y =1 ! r = 5em -
o a ima I Volume of the cylinder part = 7tr2h
As this line pass through the point (-3, 8), we 1 2 3 3
1
- = ZExZx2x8
have S+ 1= -3 (7T=a)+8a=a(T-a) ' 77277
a T-a : 396
—21+3a+8a="7a—ad’ 1 = T=56.57cm3
1
So, a*+4a-21=0 I _ 5 1 2,
Solving this equation (a <3)(a + 7) = 0 ! Volume of the 2 conical parts = EW
a=3ora=-7 ! Z
1 —_ X —
Since a is positive, we have ¢ = 3 and ! = 2% ZX 7 X ZX ZXZ 942 em’
_ b=T7-a=7-3=4. Total volume = 56.57 +9.42 = 65.99 cm’
Hence 5 + Z =1 : The volume of the model that Nathan made = 66 cm?
Therefore, 4x+3y—12=0 is the required equation. . 39. Let the number of small spheres obtained be 7.
\ 3 3 3 | Let r be the radius of each small sphere and R be
37, SIMA+cosA sinfA-cosA _ ) the radius of metallic sphere.
sin A +cos A sin A —cos A 1 Here. R = 16 cm. 7= 2 cm
03 3 3 3 ! i i
LS = SNTATCOSA sinfA-cosA Now, 7 x (Volume of a small sphere) = Volume of
sinA+cosA  sin A—cosA : big metallic sphere
_ (sinA —cos A)3 —3sin AcosA(sin A +cos A) 1 n(inﬁj _ inRs
sinA+cos A : 3 3
n (sinA +cos A)® +3sin Acos A(sin A — cos A) : n(inxfj:inxl@
sinA —cos A ! 3 3
s 3 ! 8n=4096 = n=1>512
[ a”+b°=(a+b)y —3ab(a+D) ‘ Therefore, there will be 512 small spheres.
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40. Sathya Vidhya T Expand the equation :
Given Zx, = 460 Given Xx, = 480 I (P=2x+ D+ (2 —4x+4)+(x*-6x+9)=0
6, =46 c,=24 : Combine like terms : 3x> — 12x + 14 =0
Yx, 460 Yx, 480 : The discriminant (D) is given by the formula
X, == 5 X,=——= 5 ! D = b*>—4ac, where a, b and c are the coefficients
g Zn 3 96’1 : of the quadratic equation ax? + bx + ¢ = 0.
- - ! B o N
46 24 X a=3,b 12,c=14
~CV,= EXIOO CVv,= %XIOO | D = (-12)2-4(3) (14)
=59, =2.5% ! = 144-168 = 24
C.V of Vidhya is less than C.V. of Sathya. ! Since AZ0, the equation has two complex roots.
.. Vidhya is more consistent. | Part - IV
41. Sample space = {5 red, 6 white, 7 green, 8 black , 43. (a) Construction:
. n(S) = 26 balls} | Step 1 : Draw a line segment BC = 8 cm.
: B N . . 2:AtB BE such that /CBE = 60° .
(i) Let A be the event of getting the white ball : Step tB, draw pat ZC 60
. 1 Step 3 : At B, draw BF such that ZEBF =90° .
Givenn(A) = 6 ! . .
n(A) 6 3 . Step 4 : Draw the perpendicular bisector to BC,
~P(A) = n(S) BEYRET) ! which intersects BF at O and BC at G.
Step 5 : With O tre and OB dius d
(ii) Let B be the event of getting the black ball | PO e s rads Gawa
- I :
n@®) = 8 (B) g : Step 6 : From B, mark an arc of 6cm on BC at D.
L PB) = mB) _ % 1 Step 7 : The perpendicular bisector intersects the
Let C be th " n'(s) te red ball : circle at I. Joint ID.
et & be the event of getting the red ba | Step 8 : ID produced meets the circle at A. Now
n(€) =5 - P(C) = I join AB and AC.
.. Probability of getting black or red balls : Then AABC is the required triangle.
8 5 !
= =—+—
P(B) + P(C) % 26 !
_ 85 DN : R
26 26 2 o A 7
(iif) Probability of not getting a white ball = P(A) ! / / A
cm C
= 1 - P (A) : ]]:ougi diagram
_ o3B3 100
13 13 13 :
(iv) Probability of neither white nor black |
= 1 — Probability of white or black !
— 1 — [Probability of white ball + | (OR)
Probability of black ball] ! (b) Radius = 4cm
: { 6 8 } : The distance of a point from the center = 11 cm.
= —_ | — 4+ —
26 26 : X e A
[. there are 6 white balls and 8 black balls] em ,
1
-1 (8+6j_1 14 26-14 12 1 : |~
- - =717 — = = 1
26 260 26 26 .
= B E Rough diagram
42. To determine the nature of the roots of the equation :
(x—1P+@x—-2%+(x-37>=0. !
¢
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Construction: (OR)
Step 1 : With centre O, draw a circle of radius 4 cm. '+ (b) Let x be the time taken in minutes and y be the
Step 2 : Draw a line OP =11 cm. distance travelled in km.
Step 3 : Draw a _L" bisector of OP, which cuts at M. Time takenx | 60 120 | 180 | 240
Step 4 : With M as centre and MO as radius, draw a (in minutes)
circle which cuts previous circle at A and B. Distance y 50 | 100 | 150 | 200
Step 5 : Join AP and BP. AP and BP are the required (in km)
tangents. Thus length of the tangents are (i) Observe that as time increases, the distance
PA=PB=10.2 cm. travelled also increases. Therefore, the
Verification: variation is a direct variation. It is of the form
In the right triangle y=kx.
/OPA, PA = -+ lOP?2 —0A2 =VI1 1> —4° Constant of variation
0 1 150 200
= J121=-16 = V105 _Y_30_ LW 0GE0 5
. x 60 120 180 240 6
~ 10.2 cm (approximately) ' '
44. (a) Hence, the relation may be given as
X —4 | 3| 2(-1] 0 1 2 3 4 y:kx=y:gx
x| 16| 9 4 1110 1 4 9 [ 16 Sy
Ox | +36 (27 | 18| 9 [ 0 | -9 |-18|-27|-36 (i1) From the graph, y =—, if x=90,
20 | 20 | 20 [ 20 (20| 20 | 20 | 20 | 20 | 20 5 6
72 |56 142 (3020 [12] 6 |20 then y=gx90=75km
Step 1: The distance travelled for 90 minutes is 75 km.
Points to be plotted : (-4, 72), (-3, 56), (-2, 42), 5
(-1.30), (0,20), (1, 12), (2, 6). (3., 2). (4, 0) (i) From the graph, y = >, if y =300
Step 2: The point of intersection of the curve with 6 6 6
x axis is (4, 0) (5,0) then x = -2 = 2 %300 = 360 minutes (or) 6 hours.
Step 3: S
== The time taken to cover 300 km is 360 minutes
cale @

x axis =1 cm = | unit
y axis = 1 cm = 10 units

R el B

frrt
G EELEE AL
—104

[

kB ST, detREe it

V

The roots are real &
.. Solution {4, 5}

unequal
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(or) 6 hours.

yA
Scale
x axis 1 cm = 30 mins
450 yaxis 1 cm = 50 km
400
350
£ 300 >
£
o 250
g
=
£ 200 5
& B HEL (240, 200)
a y 6
150
(180, 150)
100
e i (120, 100)
50
0, 50) 4
i x
X 0l 30 60 90 120 150 180 210 240 270 300 330 360 390
Time (in minutes)
Yy
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